DESCRIPTIVE STATISTICS EXERCISES
@G‘nsu&f;do céasu&u:stm af}ﬁlfz*{-ﬁﬂﬂ%a | Heigur Nurset |

mM.Ct cm . oF STudbalT
SMPZ.Q% 903@.@%&&&@5&,@6 ( ) = >

- 140 -~ 149 5

shoun & the ~ahL. - 150 - 159 13
160 = 169 49

@ Prowr By fripurnag Roslogycmm for tlo olota. |1 I

(E)W@W&@wﬁwwa& T 190 - 199 6

@ C’““J‘"’ the ‘l‘m‘{{‘“&* ‘l{}% ’?“’”S ”6 SQ’”""EY SEMIGRITY NumgeR
o{a &wp& ’g 50 CE6EP Linshics sheur (veres) of TercHERS
o -2 2
P Y o % — 1=
(@Lrwﬂﬂawesﬁue%%mcj pag}mﬂ/ﬂml&& =& I
IS — I

- 24| 250 248 243 242 283 242 236 245 244
24.5 232 2.0 23.% 23.8 253 245 2446 240 252
25,2 244 243 240 246 249 240 25% 242 as2
24.8 241 256 245 35] 246 243 152 247 233

("L)Conﬁ(}udfdawmﬁéds Fﬂw Mt;n W%%Mﬂw 664553{5
(c_) Dms...»rﬂo Raeatu'@ M fw%-g,m fqvlzdo olols.
o rvaar the cumliatics 1heliio fregusmey pobrgon for o st

® Fomth dascfistin of 20 ctssmedbions sfourm. Rone., fird:

| @)ﬂ—“.,mzw%dnmn?ﬁﬂnw%aéwéfxm«“m& CLASS | CLASS LIMITS ers

0.0 -~ 9 0
(M#e.lcwbrwdu‘ééxﬁlmmm.f ef/t]o Z‘ddes ?t 5.0 — ,,I:.q 3‘%5
8 3 | 200 - 249 0. 78

(cbttq rradped 46)6‘0 440&-3 < 26.0 - 29.9 0,95
(o) e frogponcy of tho 2 hess, 2] 50347 5o




........

PESCRIPTIVE STATISTIES Excreises

5%.6,53.7, 375, 5.5, 26.2,30.7,68.§, §1.2 42.¢

@Mwﬁaﬁ/ﬁcmww@m*dwm%%%
 sephe o{o@u:)&s'é ScorveS 141, 18,25, 30, 49,35, 11,50,36, 46,34, 36

OM th folloiny 5y firef fcts ol 20 Hosbih mainds

$1-32 é1.43 é4.90 70. 6 .02 P54 - .21

M.92 22.56  s%.01 6%.05 #3.3% .73 65.43
.1 6.5( és.10 #6.02 15.06 59. 41

Eand Stk yizam, vaslinn mamddwwq{;dao@m

@ Coasie o mirorndis: off <Hollditn im, 50 cornplitlid famidis garam Kolows.
Sibdren (formily | © 1 2|2 |45 6 7
¥ of ffomilies | 9 219 [ 516 2

Qoguduy po miwra-& cﬂda!m/fwmu{y Anﬂaf,u,damm,wubmdmodz'

2olat | 22|23 |24|25
#Q@SIGMS 2 |zol3s5|19 0] 6

secTioN T SeeTion I
o €0 3} 10 9 o 1 H“
63 6 W 6% 55 %5 %2 63
2 69 & H 0 6l 61 67
60 & W 43 P W W M
2 ¥ {0 fo | S8 S0 W 45
Colle s amd comenre ths e, radision, wed2, and slanderd Losrealions
d{ e 2 sactions. ¢



Decritrive StaTisnes Exgleises

() Covert st T = 10 amd %K;&:s:oo%,q _%25 ‘ — )WS‘ g

@I{/dbw ay%ﬁmwﬂm@ls’w,wm
@I&%Sw&? @rqumcﬁa'%ﬂd)@y: ‘ '
@3%/0}«&\31;4»%%@&)%# (6).n p ,mdzs.cmﬁy 10l
wurhalt sffecl aiilh oy Mampos Aot o K amd S 7
a%%M'MWmMcMJMW%
100 lomntig, 150 Ao selee® sl 8O CE7EP Tinchens anvrogod “$4000,
“3000,27 #5000 sfactily. whet is o ool amaragy selury of HisoTiaches?
(B G shharitoc s dsigmed foc o s Aeael of 2000 lhs. Ts & evecleoded, of
dtm/&v;a;fw S‘Mm,\n‘ﬂaummmé&b 123 45 amel 5 rean

L@ft“:"’“— the AN Grady [é-*’ o ca&ifef 100 sTudsmify aras 86 I{Z’p T m

s

o thy €0 lings 3 to el ares 70, wohol cas s vann rode of o i thehss

(B) Concidue thy clussfcaln 15 s gt of o Aemrly

lHouvkry NurgeR of
Toli (a dollnns) change d Ly 40 sl barucyans. 3::‘:5; ALn::eas

(2 whst % c(:d!nﬁuuamf Ja.a?.zﬂm’,&w‘%'o/&? | s0- 59 7

©)uhet % of too Dussgans chngs of frast 60 e 7 ?:- g9 | 18

: - #1

€ Slimaty e manm Aoy 7ol harged oy Mhoe bourgrs. [ 55— 5 h
CLASS LiMITS s - . L
3 -5 |2 | M&w'd&%wﬁﬁ“’#

9 - U 2
2 - 14 9
s 17 fa

Elorslo X ownd S.

g "8- {o ahl:!ff#;dg ; q{( 5_._&5-,-,‘94{1
laﬁémmdly_4oﬂem&]m.0:nsfa¢ apanils.

4




Descrietive STaTisTics  EXERCKES

C"“:“‘l”" e dlﬂﬁh-gg‘mz"'\;é L -:gﬂ:f aa’ytlo | i‘f:ES.(‘lmks) = of PLAYERS

ages of & sample of 150 NHL floges. e 5

. 23 - 25
Sslimale X omd S. 2 T 2= 2z
32 - 34 o
ooK. NMarmBER . .
@ :nne; oF DAYS Considac :& Jass;#aﬁu % ﬂé«&o&.‘ %[}‘J{o
oo - 19 3 » / 0#5 y ’NO{'&#’&%
120 - 139 E & . c«dné_q ] ‘ a&” o st
140 - 159 13 . ‘ “u'a’w ’Mmcd
160 - 139 7 S<lomals X amd S,
180 - 199 ol :

&) Tcomss it o s sty are. Bonom 2o e o fotl- chofud dstebutin.. T4
V2B SnCTD LS #18,000 Mﬂ:d a slodand dsarcalion, {#—?,OOOJI%M AJ{alf/AexconT?,(
Q{ﬂp a:?’s ol LaTenS

@)_esm rrart Ham ¥ 22,000 7
(b) 2 ,(u:,d%”lo,ooo 7
(e anm el V16000 sond 722,000 7

@Zﬁiéj) 600 stadsifr 4relg am nﬁﬁﬁ%lﬁf,@w@y X = 3250md S=75
¢ isbrdlian 7{:&6/@.‘ SCoTeS Anrag MM,&WW%)M
Yoyl o&zﬁé shaslts |
(o5 seored foss than 250 €
(B)'sco—ru('rnmﬁ:dww 475 ¢

@ 12,400 vilos @éﬂs: I?OO). /A MXB W#wb@%
Jasy o, 8300 nibhs - GJWQM-M%M,;(,Q
10000 af these Lines i @ farge Soni fluk, @M@%)mwwﬂ
€ Foe e dals. ion Sareisar @ and @ ot delirvmae

Fio, Pro, 81, @2, 0md @5 for 20k somily .



DPESCRIPTIVE STATSTICS EXERCUES .— SakltTronS

. . 50 40
@ i.f/ Boundasus | £ c§ @ G?)
Cstsees | S s 5 &
495-153S_| (3 18 5 : e§
155~ 675 | 49 6¥F —
1635~ (325 | 17 g4 TNV +—+ °1
- \n L) e
1775 - 1995 e} 90 ° £ g8 2. &8
Bendaned 73 [ef lecf | @ 4ol (1) (oo-
0525 12 1{04 | 2 -oi
2§-55 |5 o | F 11
s5-85 |0 |22 |18 {.3¢6 - \ e
§gs-05 |a |3% |3y |. ¢ :
#s - S |9 18 1 4¢ .92 VT T e e TVL T e e g
4s-1:S |4 |08 | §o (100 idpoits M 2 8 = ¥ =
(G® . — T -
Lo Bxumdlacies :‘{Adjmtf ‘F T“F c C\'§
23.0-234 22962345} 23.2 2 {.u§o| 2 |.050
23.5- 239 |2345-23.95 | 23.1 3 |.035) 5§ |25
240 -244 (1395 -29495 | 142 |4 |-350) 19 |.43%5
M.5 -749 |asgs - 2495 | 247 2 {.-300! 31 |37
25.0 —254 P4 - 2545 | 252 | 7 |.(35 ] 3% 950
255 - 259 |54 - 25.957| 25.¢F 2 |.050| 40 [-000
® B © ol @ 0l
% '
S e e /
—{ - '
0- ! - ) - 04 ottt o\ TF—————+
NN N o N N ® .
@ o O #48 |0 T= #ll-3426|@) X= 1HiSH_ 703
q 12 0
b) 19.95- 1495 - ‘
¢ iX= 49H | ¥ BBboges| K= IBIHIEH . 403
45 = L
RO B L R Hode
@) A(.35’JO){ZO: 5 = #.43 , B = ?6'0;
5‘2/6‘ S= ".qi S= 6.82
&) 5= 35 = 20 = 24512) s :
©) | (=x*= 2 2) (=x _15441) (£x* = 10015.82)

16



LA

- Descripnve STATISTICS EXERCISES — SOLUTIONS

4(c) + (1) +12(2) + -~-+ ,z(;:.)

‘Yz | 50

@ x- 2(20)+20(2422f———f6(2s) wd S= 1,19

A= = .34
X S 22.%

46!.21)

(=x*=

50 v o
’kl:l armd Modle = X =22 amd Mode = 22
4oL 70 sxekt @ =x;=2560) | (D) Ghap I3 (13 §‘;§'°F“5- (b) bk up 107,
, S,= 4.68 a~d LSx; = 250 — 3 ”;312.13 12253
Sz= 9.96 =5 - X 2 12 2.2
' S ( i I
@Y= 10o{8g000) + 150 (¢7000) + €0(gp000) (19 st = 8(23)15(34) |(© f_x.“_".:__._:"(@ %0
3;‘0‘ = 1854 . =xg= 3300
<X = M = 46818.18 = Not svrabsaded T o= 3F00
330 e . , Res 300, qf

@ L= 10z00% (b) 2112 - 23- pr=7257,

(ﬂ X2 4@45)*7(54_):‘18'(645) +(743) +2(64.5) R
e Sx 3.496

SE zj‘f 64

@ iﬁ-ﬂﬁ 42F ard Sﬂﬂf: $035

j0.615

Eﬁ‘/‘t(‘= 3573 amd é:_ﬁ-/‘{‘-z: 84684/
2 X2 23.52 amd S= 3.4/

@Eﬂm: 4414.5 and E_f/“&-‘zz 70003135
-~ K= (49.85 ond S= 20.97

@4

L] I ] ] 1
¥ t

Gl

w'oo 6060 ‘;:W 20900 100
@ 25%
(&) $4%

(c) 34+ 435% = 3L57,

IS 250 7325 400 45

(2) 6o0x{ 0.16)= 96
(6)600x(0.025) =

?800 ' (2‘400 tbooo

2
= joooe (0.025) = 250

e ANS, = [000O (0__0_5)

@Fu(&«u'sagz Po =23.8 , By 7253, @) 2241, 8, =245, and @ = 249
Fere Soncie@ 1 o = 6097, Py = 7156, Q, 2650, G,= HFG, onnd Q3 > He02

13



